(88)4 4 %

AR R e ke

F2R
#[ R

(i5%) L

WISk A

(o) 3.

BEREBERK 90 L Ten
SH31  MERGHE (RAHEESESHEREL - AABED)

Suppose 3 perfectly competitive indusery can produce Roman candles at a con-
stant marginal cost of $10 per unit. Onee the industry is monopelized, mar-
ginal costs rise to 312 per vnie becavse $2 per unit must be paid ro lobbyists o
ensure thar only this firm receives a Roman candle license, Suppose the marker
demand for Roman candles is given by

Qp = 1,000 - 0P
and rthe marginal revenve curve by
MR = 20 - Q/25.
. Calculate the pecfectly competitive and monopoly cutpurs and prices.

]
b. Calculate the rotal Yoss of consumer surplus from monepolization of Ro-
man candle producrion.

¢ Graph your results.

Suppose the demand for labor is given by
L= =30w + 4350
and the supply is given by
L = 100w

_ .
where L represents the number of people employed and w is the real wage rate
per hour :

4. Whar will be the equilibrium levels for w and L in this market?

b. Suppose the government wishes to raise the equilibrium wage to 34 per
hour by offering a subsidy to employers for each person hired. How much
will this subsidy have to be? What will the new equilibrium level of employ-
ment be? How much total subsidy will be paid?

. Suppose instead the government declured a minimum wage of 34 per hour,
How much labor would be demanded ar thiz price? Mow much unemploy-
ment would there be?
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J £  Given a three-sector income determination model in which
¥ ow O I+ Gy Ydw ¥ =T Cor To, Go, To> 0 D<h, <]
Ce=Cy+ bYd T=To+tY

determine -the magnittde and direction of a change in (a) government spending,
(&) lump-sum taxafion, and (¢) the tax rate on the equilibrium level of. income. [n
shart, caleulate the governmeni_mufiiplier, the anfonomons fax multiplier, and the tax-rale
P?'!Hrl.!ﬂ”éh . frgn [

':JS";}J 6 [p-.ﬁha rate. of net investment is T =400" and capital stock at =0 is ‘?5 Find the
: éapital Tunction KGEJ
U{-:i With = f(¥), the marginal propensity to consume is given by MPC = 4C/dY = " ?"}.
. IM the MPC =08 and consumplion iz 40 when income is zero, find the consumplion
" function.
Eﬁ;‘,li;t' world pnpu’.lratiun grows al 2.6 percent, how long will it take to double?
. 7
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